
Question 1 

Question text 

What are the tensions in the implementation process? 

Select one: 

a. Idealized policy 

b. The implementing organization 

c. The target group 

d. All the above 

Question 2 

Question text 

What are the problems of policy implementation in India? 

Select one: 

a. 

The Programmes remain largely government administered, without people's participation. 

b. Lack of capacities for execution of the programmes. 

c. 

The interest groups and the political parties, try to influence the process at 

the implementation stage, often leading to undesired consequences. 

d. All the above 

Question 3 

Question text 

What are needed for Implementation 3.0? 

Select one: 

a. Sophisticated competencies 

b. Coherence amongst many policies 

c. Coordination amongst many agencies 

d. All of the above 
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